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Aufgabe 1
Berechne den Prozentsatz.
a) % von 84=42 b) % von 74=37 c) % von 20=2
d) % von 80=12 e) % von 100=28 f) % von 18=9
g) % von 50=43 h) % von 50=19 i) % von 100=31
i) % von 34=34
Aufgabe 2
Berechne den Prozentsatz.
a) % von 55=11 b) % von 54=27 c) % von 94=47
d) % von 60=51 e) % von 40=4 f) % von 60=39
g) % von 30=9 h) % von 87=87 i) % von 80=16
j) % von 28=21
Aufgabe 3
Berechne den Prozentsatz.
a) % von 341=136,4 b) % von 897,5=T718 ¢) % von 432,4=216,2
d) % von 131,2=98 4 e) % von 474,6=474,6
f) % von 901,6=450,8 g) % von 713=641,7 h) % von 543,5=2174
i) % von 972=729 i) % von 626=250,4
Aufgabe 4
Berechne den Prozentsatz.
a) % von 800=760 b) % von 225=180 ¢) % von 172=86
d) % von 378=189 e) % von 569=569 £) % von 234=234
g) % von 996=249 h) % von 272=272 i) % von 912=228

j) % von 130=117

Viel Erfolg!
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